Dachterrasse - ==
BEIm RS S S
= /¢¢

o \#
|
i \ |
4120 N
| _ |
~
Lk |
N2 Kind thneano(he;lessen
i L m
136 m’ &
— = 0885 m
'(1( 1.20 )i, 213" m ’7
1 Bad L
— 2 0885 m
j | Mo 2@\ 1
= = s |
e 20 120 -
) = ——= N |
= 7 ca
e v IR
I % 235 m
Eltern
A 90 ¢ 2 p f
L B9 m

miill

|
|
PNt

Dachterrasse
18.69 m”

Abst.
39 m*

TR | WA

Dachterrasse
%33 m*

Wohnen/Kochen/Essen

2658 m*

Technikrzum
989 m*
\/\t\.\ \/ =
/ \V .
I
] ‘ - A4+ 120 -
o
1010 m \ o =
2135 m / 1.20 —
I O o = ]
r>-1
A
A - i i
b N Wohnen/Kochen/Essen S 73 m?
T8H 2 m N
1382 n? e n
T W 1 235 m_ /J 120
’| Bad ‘
= 0885 m o
7 S [amsa|| MM ir\
WHG7 gF ] } - }
WHG-6 T =204k d WZD\L’(”
Flur | {4 L )
022 m* Ll — |
- _
0.885 m ™ .
2135 m Eltern &
L B m* - 90 $-
*
=
=
1.20 7
,77+|
=~
= /
120 1+—F
—|
L Dachterrasse
] Eltern \\ 133 m*
I / %59 m*
1.20 (
S ,—_Ar|
L L } =3 <
90 ﬁ|4




